

New results of modern concept on the fourth-Hankel determinant of a certain subclass of analytic functions

Sarab Dakhil Theyab^{a,*}, Waggas Galib Atshan^b, Habeeb Kareem Abdullah^a

^aDepartment of Mathematics, Faculty of Education for Girls, University of Kufa, Najaf, Iraq

^bDepartment of Mathematics, College of Science, University of Al-Qadisiyah, Diwaniyah, Iraq

(Communicated by Madjid Eshaghi Gordji)

Abstract

A form for the fourth Hankel determinant is given in this paper as

$$H_4(1) = \begin{vmatrix} 1 & a_2 & a_3 & a_4 \\ a_2 & a_3 & a_4 & a_5 \\ a_3 & a_4 & a_5 & a_6 \\ a_4 & a_5 & a_6 & a_7 \end{vmatrix}$$

The modern concept of the fourth Hankel determinant is studied for the subclass of analytic functions $\mu(\beta, \lambda, t)$ defined here using the concept of subordination. Bounds on the coefficients $|a_n|$ with $n = 2, 3, 4, 5, 6, 7$ for the functions in this newly introduced class are given and the upper bound of the fourth Hankel determinant for this class is obtained. Lemmas used by the authors of this paper improve the results from a previously published paper. Interesting particular cases are given in the corollaries of the main theorems.

Keywords: Subordination, Analytic Function, Fourth Hankel Determinant, Coefficient Bounds.
2010 MSC: 30C45

*Corresponding author

Email addresses: sarabda293@gmail.com (Sarab Dakhil Theyab), waggas.galib@qu.edu.iq (Waggas Galib Atshan), habeebk.abdullah@uokufa.edu.iq (Habeeb Kareem Abdullah)

Received: October 2021 *Accepted:* December 2021

1. Introduction and Definition

Assign μ refers to the experience of functions f analytic in the open unit disk $U = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}$, and normalized by conditions $f(0) = 0, f'(0) - 1 = 0$.

An analytic function $f \in \mu$ has Taylor series expansion of the form:

$$f(z) = z + \sum_{j=2}^{\infty} a_j z^j, \quad (z \in U). \quad (1.1)$$

If a Schwarz function exists, w be analytic such that $f(z) = g(w(z))$ with $w(0) = 0$ and $|w(z)| \leq 1, (z \in U)$, the function f is said to be subordinate to g in U and expressed as $f(z) \prec g(z)$.

Using the method of subordination, Ma and Minda [9] developed a class of starlike functions and examined classes $S^*(\Phi)$ and $G^*(\Phi)$ which are defined by

$$S^*(\Phi) = \{f \in \mu : \frac{zf'(z)}{f(z)} \prec \Phi(z), z \in U\},$$

and

$$G^*(\Phi) = \{f \in \mu : 1 + \frac{zf''(z)}{f(z)} \prec \Phi(z), z \in U\}$$

Mediratta et al. [10] introduced the family $S_e^* := S^*(e^z)$, which is defined as:

$$S_e^* = \{f \in \mu : \frac{zf'(z)}{f(z)} \prec e^z, z \in U\} \quad (1.2)$$

In the same way, using the Alexandar type connection in [10], we get:

$$G_e^* = \{f \in \mu : 1 + \frac{zf''(z)}{f(z)} \prec e^z, z \in U\} \quad (1.3)$$

We can deduce from the preceding explanation that the families S_e^* and G_e^* examined in this idea are symmetric around the real axis.

Pommerenke [12, 13] defined the Hankel determinant $H_q(n)$ as a function $f \in \mu$ of the type (1.1) for given parameters $q, n \in \mathbb{N} = \{1, 2, \dots\}$, as follows:

$$H_q(n) = \begin{vmatrix} \mathbf{a}_n & \mathbf{a}_{n+1} & \dots & \mathbf{a}_{n+q-1} \\ \mathbf{a}_{n+1} & \mathbf{a}_{n+2} & \dots & \mathbf{a}_{n+q} \\ \vdots & \vdots & \vdots & \vdots \\ \mathbf{a}_{n+q-1} & \mathbf{a}_{n+q} & \dots & \mathbf{a}_{n+2q-2} \end{vmatrix}, \quad (a_1 = 1). \quad (1.4)$$

In the theory of singularities [5] and the investigation of power series with integral coefficients, the Hankel determinant is very important. The reader is encouraged to read [3] and [11] for more information. For several subfamilies of univalent functions, the growth of $H_q(n)$ has been explored. We know that the function $H_2(1) = a_3 - a_2^2$ for $q = 2$ and $n = 1$ is a well recognized Fekete-šzego functional. For the bi-convex and bi-starlike classes, the second Hankel determinant $H_2(2)$ is given by $H_2(2) = a_2 a_4 - a_3^2$ ([1, 4, 7]). On the other hand, Krishna et al. [8] provided a sharp estimate of $H_2(2)$ for the set of Bazilevic functions. Srivastava and colleagues [17, 16, 15] recently discovered the symmetric q -derivative operator is used to estimate the second Hankel determinant for bi-univalent functions.

For functions, the third-order Hankel determinant of form (1.1) is written as:

$$H_3(1) = \begin{vmatrix} 1 & a_2 & a_3 \\ a_2 & a_3 & a_4 \\ a_3 & a_4 & a_5 \end{vmatrix} = -a_5 a_2^2 + 2a_2 a_3 a_4 - a_3^3 + a_3 a_5 - a_4^2.$$

Babalola [2] presented the first work on $H_3(1)$ in 2010.

The third Hankel determinant was studied in [4] for a certain subclass of starlike functions and this form was used in that paper for computing the fourth Hankel determinant for the same subclass. The third Hankel determinant was not used in the present paper as mentioned in the cited paper [4]. A definition for fourth Hankel determinant is introduced in our paper written as the determinant of a matrix. A new subclass of analytic functions is also introduced by means of subordination and estimate are given for the upper bound of the fourth Hankel determinant for functions in this subclass.

We now establish a concept based on the fourth Hankel determinant as follows:

$$H_4(1) = \begin{vmatrix} 1 & a_2 & a_3 & a_4 \\ a_2 & a_3 & a_4 & a_5 \\ a_3 & a_4 & a_5 & a_6 \\ a_4 & a_5 & a_6 & a_7 \end{vmatrix} = -a_4 \mathcal{S}_1 + a_5 \mathcal{S}_2 - a_6 \mathcal{S}_3 + a_7 \mathcal{S}_4, \tag{1.5}$$

where

$$\begin{aligned} |\mathcal{S}_1| &= |a_2||a_4 a_6 - a_5^2| + |a_3||a_3 a_6 - a_4 a_5| - |a_4||a_3 a_5 - a_4^2|, \\ |\mathcal{S}_2| &= |a_4 a_6 - a_5^2| - |a_2||a_3 a_6 - a_4 a_5| + |a_3||a_3 a_5 - a_4^2|, \\ |\mathcal{S}_3| &= |a_3 a_6 - a_4 a_5| + |a_2||a_2 a_6 - a_3 a_5| - |a_4||a_2 a_4 - a_3^2|, \\ |\mathcal{S}_4| &= |a_3||a_2 a_4 - a_2^2| - |a_4||a_4 - a_2 a_3| + |a_5||a_3 - a_2^2|, \end{aligned} \tag{1.6}$$

The first and second kinds of Chebyshev polynomials are the most well-known and defined in the situation of a real variable x on $(-1, 1)$ by

$$T_n(x) = \cos(n \arccos x),$$

$$U_n(x) = \frac{\sin[(n + 1) \arccos x]}{\sin(\arccos x)} = \frac{\sin[(n + 1) \arccos x]}{\sqrt{1 - x^2}}, \text{ respectively.}$$

We think about the function.

$$H(t, z) = \frac{1}{1 - 2t + z^2}, \quad t \in \left(\frac{1}{2}, 1\right), \quad z \in U.$$

It is common knowledge that if $t = \cos \alpha$, $\alpha \in (0, \frac{\pi}{3})$, then

$$H(t, z) = 1 + \sum_{n=1}^{\infty} \frac{\sin[(n + 1)\alpha]}{\sin \alpha} z^n = 1 + 2 \cos \alpha z + (3 \cos^2 \alpha - \sin^2 \alpha) z^2 + (8 \cos^3 \alpha - 4 \cos \alpha) z^3 + \dots, \quad z \in U,$$

that is

$$H(t, z) = 1 + U_1(t)z + U_2(t)z^2 + U_3(t)z^3 + U_4(t)z^4 + \dots, \quad t \in \left(\frac{1}{2}, 1\right), \quad z \in U.$$

where $U_n(t) = \frac{\sin[(n+1)\arccos t]}{\sqrt{1-t^2}}$, $n \in \mathbb{N}$,

The second class Chebyshev polynomials are represented by $U_n(t)$. The second kind Chebyshev polynomials notion explains that

$$U_{n+1}(t) = 2tU_n(t) - U_{n-2}(t).$$

We get that

$$U_1(t) = 2t, \quad U_2(t) = 4t^2 - 1, \quad U_3(t) = 8t^3 - 4t, \quad (\text{for each } n \in \mathbb{N}).$$

The first goal of this paper is to look into the estimate of $|H_4(1)|$ for the above-mentioned classes S_e^* and G_e^* . Moreover.

Lemma 1.1. [6] *If P be a class of all analytic functions $p(z)$ of the form:*

$$p(z) = 1 + \sum_{n=1}^{\infty} p_n z^n \tag{1.7}$$

with $p(0) = 1$ and $\Re\{p(z)\} > 0$ for all $z \in U$. Then $|p_n| \leq 2$, for every $(n = 1, 2, 3, \dots)$. This disparity is sharp for each n .

Mendiratta et al. recently developed the S_1^ subclass of analytic functions related with exponential functions in [10].*

Lemma 1.2. [10] *If the function $f \in S_1^*$ and of the kind 1.1, then*

$$|a_2| \leq 1, \quad |a_3| \leq \frac{3}{4}, \quad |a_4| \leq \frac{17}{36}, \quad |a_5| \leq 1.$$

where S_1^ denote the class of analytic functions to third Hankel determinant.*

Lemma 1.3. [14] *If the function $f \in S_e^*$ and of the form 1.1, then*

$$|a_2| \leq 1, \quad |a_3| \leq \frac{3}{4}, \quad |a_4| \leq \frac{1}{18}, \quad |a_5| \leq \frac{1}{96}, \quad |a_6| \leq \frac{1}{600}, \quad \text{and} \quad |a_7| \leq \frac{2401}{3600}.$$

Lemma 1.4. [14] *If the function $f \in G_e^*$ and of the kind 1.1, then*

$$|a_2| \leq \frac{1}{2}, \quad |a_3| \leq \frac{3}{12}, \quad |a_4| \leq \frac{1}{72}, \quad |a_5| \leq \frac{1}{480}, \quad |a_6| \leq \frac{1}{3600}, \quad \text{and} \quad |a_7| \leq \frac{343}{3600}.$$

2. The Subclass $\mu(\beta, \lambda, t)$

We're going to add a new subclass now, of analytic functions using the concept of subordination.

Definition 2.1. A function $f \in \mu$ given by (1.1) is said to be in the class $\mu(\beta, \lambda, t)$ if the following conditions holds:

$$1 + [(1 - \lambda)z^3 f''''(z) + \beta z^2 f'''(z) + \beta z f''(z)] - 1 \prec H(t, z), \tag{2.1}$$

where $(\lambda \geq 0, \beta \geq 0)$, and

$$H(t, z) = 1 + U_1(t)z + U_2(t)z^2 + U_3(t)z^3 + U_4(t)z^4 + \dots, \quad t \in \left(\frac{1}{2}, 1\right), \quad z \in U.$$

We'll start by calculating estimates for the coefficients $|a_n|$ and $n = 2, 3, 4, 5, 6, 7$, for functions in the class $\mu(\beta, \lambda, t)$.

The primary findings of our current inquiry are now stated and proven. related to this subclass.

In the following Theorem, we find the coefficients $|a_2|, |a_3|, |a_4|, |a_5|, |a_6|$ and $|a_7|$.

Theorem 2.2. If the function f is given by (1.1) belongs to the subclass $\mu(\beta, \lambda, t)$, then

$$|a_2| \leq 2, \quad |a_3| \leq \frac{2}{(1 + \beta)}, \quad |a_4| \leq \frac{3}{2(1 - \lambda) + 2\beta + 1}, \quad |a_5| \leq \frac{27}{30(1 - \lambda) + 15\beta + 5},$$

$$|a_6| \leq \frac{54}{60(1 - \lambda) + 20\beta + 5}, \text{ and } |a_7| \leq \frac{162}{140(1 - \lambda) + 35\beta + 7}.$$

Proof . If $f \in \mu(\beta, \lambda, t)$, then there exist an analytic function ϑ in U with $|\vartheta(z)| \leq 1$, we have

$$1 + [(1 - \lambda)z^3 f''''(z) + \beta z^2 f'''(z) + \beta z f''(z)] - 1 = H(t, \mathcal{T}(z)).$$

Then, according to the concept of subordination, \mathcal{T} is a Schwarz function of the form:

$$\mathcal{T}(z) = \sum_{n=1}^{\infty} p_n z^n, \quad (z \in U),$$

$$F(z) = \frac{1 + \mathcal{T}(z)}{1 - \mathcal{T}(z)} = 1 + 2p_1 z + 2(p_2 + p_1^2)z^2 + 2[p_3 + p_1(2p_2 + p_1^2)]z^3 + 2[p_4 + p_2^2 + p_1^2(3p_2 + p_1^2) + 2p_1 p_3]z^4$$

$$+ 2[p_5 + 2p_2(p_3 + 2p_1^3) + 3p_1(p_1 p_3 + p_2^2) + (p_1(2p_4 + p_1^4))]z^5$$

$$+ 2[p_6 + p_1^3(4p_3 + p_1^3) + p_1^2(3p_4 + 5p_2 p_1^2) + 2p_1(p_5 + 3p_2 p_3) + p_3^2 + p_2^2(p_2 + 6p_1^2) + 2p_2 p_4]z^6 + \dots \tag{2.2}$$

Since $f \in \mu$ has the Maclurian series given by (1.1), we have

$$1 + [(1 - \lambda)z^3 f''''(z) + \beta z^2 f'''(z) + \beta z f''(z)] - 1 =$$

$$[2a_2 z + 6(\beta + 1)a_3 z^2 + [24(1 - \lambda) + 24\beta + 12]a_4 z^3 + [120(1 - \lambda) + 60\beta + 20]a_5 z^4$$

$$+ [360(1 - \lambda) + 120\beta + 30]a_6 z^5 + [840(1 - \lambda) + 210\beta + 42]a_7 z^6 + \dots \tag{2.3}$$

Using (2.2) with (2.3), comparing the coefficients of

$$2a_2 = 2p_1,$$

$$6(\beta + 1)a_3 = 2(p_2 + p_1^2),$$

$$[24(1 - \lambda) + 24\beta + 12]a_4 = 2[p_3 + p_1(2p_2 + p_1^2)],$$

$$[120(1 - \lambda) + 60\beta + 20]a_5 = 2[p_4 + p_2^2 + p_1^2(3p_2 + p_1^2) + 2p_1p_3],$$

$$[360(1 - \lambda) + 120\beta + 30]a_6 = 2[p_5 + 2p_2(p_3 + 2p_1^3) + 3p_1(p_1p_3 + p_2^2) + (p_1(2p_4 + p_1^4))],$$

$$[840(1 - \lambda) + 210\beta + 42]a_7 = 2[p_6 + p_1^3(4p_3 + p_1^3) + p_1^2(3p_4 + 5p_2p_1^2) + 2p_1(p_5 + 3p_2p_3) + p_3^2 + p_2^2(p_2 + 6p_1^2) + 2p_2p_4].$$

By Lemma 1.1 ($|p_n| \leq 2$ for the coefficients $|a_n|$ and $n = 2, 3, 4, 5, 6, 7$), we obtain

$$|a_2| \leq 2, \tag{2.4}$$

$$|a_3| \leq \frac{2}{(1 + \beta)}, \tag{2.5}$$

$$|a_4| \leq \frac{3}{2(1 - \lambda) + 2\beta + 1}, \tag{2.6}$$

$$|a_5| \leq \frac{27}{30(1 - \lambda) + 15\beta + 5}, \tag{2.7}$$

$$|a_6| \leq \frac{54}{60(1 - \lambda) + 20\beta + 5}, \tag{2.8}$$

$$\text{and } |a_7| \leq \frac{162}{140(1 - \lambda) + 35\beta + 7}, \tag{2.9}$$

The proof is complete. \square

We can find $|H_4(1)|$ in the following Theorem.

Theorem 2.3. *If a function f of form (1.1) belongs to the subclass $\mu(\beta, \lambda, t)$, then*

$$|H_4(1)| \leq \frac{-\delta^4(1 - \lambda + 2\beta)(1 - \lambda + 5\beta)(1 - \lambda)[105(1 - \lambda + 3\beta)(K_1(t, \varpi)) - 189(K_2(t, \varpi))]}{K(t, \varpi)} + \frac{\delta^3(1 - \lambda + 2\beta)^2(1 - \lambda + 5\beta)[8450(1 - \lambda + 3\beta)(1 - \lambda + 4\beta)(K_4(t, \varpi)) - 546(1 - \lambda + 2\beta)(1 - \lambda)^2(K_3(t, \varpi))]}{K(t, \varpi)},$$

where

$$K(t, \varpi) = (1 + \beta)^2(2(1 - \lambda) + 2\beta + 1)^3(30(1 - \lambda) + 15\beta + 5)^3(60(1 - \lambda) + 20\beta + 5)^2(140(1 - \lambda) + 35\beta + 7),$$

$$\begin{aligned}
K_1(t, \varpi) &= 324(30(1 - \lambda) + 15\beta + 5)^2(2(1 - \lambda) + 2\beta + 1) \\
&\quad - 1458(2(1 - \lambda) + 2\beta + 1)^2(60(1 - \lambda) + 20\beta + 5) \\
&\quad + 216(2(1 - \lambda) + 2\beta + 1)^2(30(1 - \lambda) + 15\beta + 5)^2 \\
&\quad - 162(1 + \beta)(60(1 - \lambda) + 20\beta + 5)(2(1 - \lambda) + 2\beta + 1) \\
&\quad - (2(1 - \lambda) + 2\beta + 1)(1 + \beta)(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5) \\
&\quad + (1 + \beta)^2(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5),
\end{aligned}$$

$$\begin{aligned}
K_2(t, \varpi) &= 162(1 + \beta)(30(1 - \lambda) + 15\beta + 5)^2 \\
&\quad - 729(1 + \beta)(2(1 - \lambda) + 2\beta + 1)(60(1 - \lambda) + 20\beta + 5) \\
&\quad - 216(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5)^2 \\
&\quad + 162(1 + \beta)(60(1 - \lambda) + 20\beta + 5)(30(1 - \lambda) + 15\beta + 5) \\
&\quad + 108(1 + \beta)(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5)(60(1 - \lambda) + 20\beta + 5) \\
&\quad - 18(1 + \beta)(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5),
\end{aligned}$$

$$\begin{aligned}
K_3(t, \varpi) &= 108(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5) \\
&\quad - 81(1 + \beta)^2(2(1 - \lambda) + 2\beta + 1)(60(1 - \lambda) + 20\beta + 5) \\
&\quad + 216(1 + \beta)(30(1 - \lambda) + 15\beta + 5) - 108(60(1 - \lambda) + 20\beta + 5)(1 + \beta)(2(1 - \lambda) + 2\beta + 1)^2 \\
&\quad - 18(1 + \beta)^2(30(1 - \lambda) + 15\beta + 5)(60(1 - \lambda) + 20\beta + 5) \\
&\quad - 12(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5),
\end{aligned}$$

$$\begin{aligned}
K_4(t, \varpi) &= [12 - 8(2(1 - \lambda) + 2\beta + 1)](2(1 - \lambda) + 2\beta + 1) \\
&\quad - [9(1 + \beta) - 12(2(1 - \lambda) + 2\beta + 1)](30(1 - \lambda) + 15\beta + 5) \\
&\quad + [54 - 108(1 + \beta)](2(1 - \lambda) + 2\beta + 1)^2
\end{aligned}$$

Proof . From (1.1), fourth Hankel determinant can be written as:

$$|H_4(1)| = | - a_4\mathcal{S}_1 + a_5\mathcal{S}_2 + a_6\mathcal{S}_3 + a_7\mathcal{S}_4|,$$

where

$$|\mathcal{S}_1| = |a_2||a_4a_6 - a_5^2| + |a_3||a_3a_6 - a_4a_5| - |a_4||a_3a_5 - a_4^2|,$$

$$|\mathcal{S}_2| = |a_4a_6 - a_5^2| - |a_2||a_3a_6 - a_4a_5| + |a_3||a_3a_5 - a_4^2|,$$

$$|\mathcal{S}_3| = |a_3a_6 - a_4a_5| + |a_2||a_2a_6 - a_3a_5| - |a_4||a_2a_4 - a_3^2|,$$

$$|\mathcal{S}_4| = |a_3||a_2a_4 - a_2^2| - |a_4||a_4 - a_2a_3| + |a_5||a_3 - a_2^2|.$$

Inserting (2.4),(2.5),(2.6),(2.7),(2.8),(2.9) in (1.6), we get

$$|\mathcal{S}_1| = \frac{K_1(t, \varpi)}{D_1(t, \varpi)}, \tag{2.10}$$

$$|\mathcal{S}_2| = \frac{K_2(t, \varpi)}{D_2(t, \varpi)}, \tag{2.11}$$

$$|\mathcal{S}_3| = \frac{K_3(t, \varpi)}{D_3(t, \varpi)}, \tag{2.12}$$

$$|\mathcal{S}_4| = \frac{K_4(t, \varpi)}{D_4(t, \varpi)}, \tag{2.13}$$

where

$$\begin{aligned} D_1(t, \varpi) &= (1 + \beta)^2(2(1 - \lambda) + 2\beta + 1)^2(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5), \\ D_2(t, \varpi) &= (1 + \beta)(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5), \\ D_3(t, \varpi) &= (1 + \beta)^2(2(1 - \lambda) + 2\beta + 1)^2(30(1 - \lambda) + 15\beta + 5)(60(1 - \lambda) + 20\beta + 5), \\ D_4(t, \varpi) &= (1 + \beta)(2(1 - \lambda) + 2\beta + 1)^2(30(1 - \lambda) + 15\beta + 5). \end{aligned}$$

Using (2.10),(2.11),(2.12),(2.13) in (1.5), we get

$$\begin{aligned} |H_4(1)| \leq & \frac{(60(1-\lambda)+20\beta+5)(140(1-\lambda)+35\beta+7)[-3(30(1-\lambda)+15\beta+5)(K_1(t,\varpi))+27(1+\beta)(2(1-\lambda)+2\beta+1)(K_2(t,\varpi))]}{K(t,\varpi)} \\ & + \frac{(2(1-\lambda)+2\beta+1)(30(1-\lambda)+15\beta+5)^2(140(1-\lambda)+35\beta+7)[162(1+\beta)(K_4(t,\varpi))-54(2(1-\lambda)+2\beta+1)(K_3(t,\varpi))]}{K(t,\varpi)} \end{aligned}$$

where

$$K(t, \varpi) = (1 + \beta)^2(2(1 - \lambda) + 2\beta + 1)^3(30(1 - \lambda) + 15\beta + 5)^3(60(1 - \lambda) + 20\beta + 5)^2(140(1 - \lambda) + 35\beta + 7),$$

$$\begin{aligned} K_1(t, \varpi) &= 324(30(1 - \lambda) + 15\beta + 5)^2(2(1 - \lambda) + 2\beta + 1) \\ &\quad - 1458(2(1 - \lambda) + 2\beta + 1)^2(60(1 - \lambda) + 20\beta + 5) \\ &\quad + 216(2(1 - \lambda) + 2\beta + 1)^2(30(1 - \lambda) + 15\beta + 5)^2 \\ &\quad - 162(1 + \beta)(60(1 - \lambda) + 20\beta + 5)(2(1 - \lambda) + 2\beta + 1) \\ &\quad - (2(1 - \lambda) + 2\beta + 1)(1 + \beta)(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5) \\ &\quad + (1 + \beta)^2(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5), \end{aligned}$$

$$\begin{aligned} K_2(t, \varpi) &= 162(1 + \beta)(30(1 - \lambda) + 15\beta + 5)^2 \\ &\quad - 729(1 + \beta)(2(1 - \lambda) + 2\beta + 1)(60(1 - \lambda) + 20\beta + 5) \\ &\quad - 216(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5)^2 \\ &\quad + 162(1 + \beta)(60(1 - \lambda) + 20\beta + 5)(30(1 - \lambda) + 15\beta + 5) \\ &\quad + 108(1 + \beta)(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5)(60(1 - \lambda) + 20\beta + 5) \\ &\quad - 18(1 + \beta)(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5), \end{aligned}$$

$$\begin{aligned}
 K_3(t, \varpi) &= 108(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5) \\
 &\quad - 81(1 + \beta)^2(2(1 - \lambda) + 2\beta + 1)(60(1 - \lambda) + 20\beta + 5) \\
 &\quad + 216(1 + \beta)(30(1 - \lambda) + 15\beta + 5) - 108(60(1 - \lambda) + 20\beta + 5)(1 + \beta)(2(1 - \lambda) + 2\beta + 1)^2 \\
 &\quad - 18(1 + \beta)^2(30(1 - \lambda) + 15\beta + 5)(60(1 - \lambda) + 20\beta + 5) \\
 &\quad - 12(2(1 - \lambda) + 2\beta + 1)(30(1 - \lambda) + 15\beta + 5)^2(60(1 - \lambda) + 20\beta + 5),
 \end{aligned}$$

$$\begin{aligned}
 K_4(t, \varpi) &= [12 - 8(2(1 - \lambda) + 2\beta + 1)](2(1 - \lambda) + 2\beta + 1) \\
 &\quad - [9(1 + \beta) - 12(2(1 - \lambda) + 2\beta + 1)](30(1 - \lambda) + 15\beta + 5) \\
 &\quad + [54 - 108(1 + \beta)](2(1 - \lambda) + 2\beta + 1)^2.
 \end{aligned}$$

□

In the scenario when β is equal to zero, The following is a Corollary:

Corollary 2.4. *Let (1.1) denote that $f(z)$ belongs to the class $\mu(0, \lambda, t)$. Then there's,*

$$\begin{aligned}
 |H_4(1)| &\leq \frac{(60(1-\lambda)+5)(140(1-\lambda)+7)[-3(30(1-\lambda)+5)(\Lambda_1(t,\varpi))+27(2(1-\lambda)+1)(\Lambda_2(t,\varpi))]}{\Lambda(t,\varpi)} \\
 &+ \frac{(2(1-\lambda)+1)(30(1-\lambda)+5)^2(140(1-\lambda)+7)[162(\Lambda_4(t,\varpi))-54(2(1-\lambda)+1)(\Lambda_3(t,\varpi))]}{\Lambda(t,\varpi)}
 \end{aligned}$$

where

$$\Lambda(t, \varpi) = (2(1 - \lambda) + 1)^3(30(1 - \lambda) + 5)^3(60(1 - \lambda) + 5)^2(140(1 - \lambda) + 7),$$

$$\begin{aligned}
 \Lambda_1(t, \varpi) &= 324(30(1 - \lambda) + 5)^2(2(1 - \lambda) + 1) - 1458(2(1 - \lambda) + 1)^2(60(1 - \lambda) + 5) \\
 &\quad + 216(2(1 - \lambda) + 1)^2(30(1 - \lambda) + 5)^2 - 162(60(1 - \lambda) + 5)(2(1 - \lambda) + 1) \\
 &\quad - (2(1 - \lambda) + 1)(30(1 - \lambda) + 5)^2(60(1 - \lambda) + 5) + (30(1 - \lambda) + 5)^2(60(1 - \lambda) + 5),
 \end{aligned}$$

$$\begin{aligned}
 \Lambda_2(t, \varpi) &= 162(30(1 - \lambda) + 5)^2 - 729(2(1 - \lambda) + 1)(60(1 - \lambda) + 5) \\
 &\quad - 216(2(1 - \lambda) + 1)(30(1 - \lambda) + 5)^2 + 162(60(1 - \lambda) + 5)(30(1 - \lambda) + 5) \\
 &\quad + 108(2(1 - \lambda) + 1)(30(1 - \lambda) + 5)(60(1 - \lambda) + 5) - 18(30(1 - \lambda) + 5)^2(60(1 - \lambda) + 5),
 \end{aligned}$$

$$\begin{aligned}
 \Lambda_3(t, \varpi) &= 108(2(1 - \lambda) + 1)(30(1 - \lambda) + 5) - 81(2(1 - \lambda) + 1)(60(1 - \lambda) + 5) \\
 &\quad + 216(30(1 - \lambda) + 5) - 108(60(1 - \lambda) + 5)(2(1 - \lambda) + 1)^2 - 18(30(1 - \lambda) + 5)(60(1 - \lambda) + 5) \\
 &\quad - 12(2(1 - \lambda) + 1)(30(1 - \lambda) + 5)^2(60(1 - \lambda) + 5),
 \end{aligned}$$

$$\Lambda_4(t, \varpi) = [12 - 8(2(1 - \lambda) + 1)](2(1 - \lambda) + 1) - [9 - 12(2(1 - \lambda) + 1)](30(1 - \lambda) + 5) - 54(2(1 - \lambda) + 1)^2.$$

As a result, The following is a Corollary if $\lambda = 0$:

Corollary 2.5. *Let $f(z)$ is given by (1.1) belongs to the class $\mu(0, \beta, t)$. Then, we have,*

$$|H_4(1)| \leq \frac{(65+20\beta)(147+35\beta)[-3(35+15\beta)(C_1(t,\varpi))+27(1+\beta)(3+2\beta)(C_2(t,\varpi))]}{C(t,\varpi)} + \frac{(3+2\beta)(35+15\beta)^2(147+35\beta)[162(1+\beta)(C_4(t,\varpi))-54(3+2\beta)(C_3(t,\varpi))]}{C(t,\varpi)}$$

where

$$C(t, \varpi) = (1 + \beta)^2(3 + 2\beta)^3(35 + 15\beta)^3(65 + 20\beta)^2(147 + 35\beta),$$

$$C_1(t, \varpi) = 324(35 + 15\beta)^2(3 + 2\beta) - 1458(3 + 2\beta)^2(65 + 20\beta) + 216(3 + 2\beta)^2(35 + 15\beta)^2 - 162(65 + 20\beta)(3 + 2\beta) - (3 + 2\beta)(1 + \beta)(35 + 15\beta)^2(65 + 20\beta) + (1 + \beta)^2(35 + 15\beta)^2(65 + 20\beta),$$

$$C_2(t, \varpi) = 162(1 + \beta)(30 + 15\beta + 5)^2 - 729(1 + \beta)(2 + 2\beta + 1)(60 + 20\beta + 5) - 216(2 + 2\beta + 1)(30 + 15\beta + 5)^2 + 162(1 + \beta)(65 + 20\beta)(35 + 15\beta) + 108(1 + \beta)(2 + 2\beta + 1)(35 + 15\beta)(65 + 20\beta) - 18(1 + \beta)(35 + 15\beta)^2(65 + 20\beta),$$

$$C_3(t, \varpi) = 108(3 + 2\beta)(35 + 15\beta) - 81(1 + \beta)^2(3 + 2\beta)(65 + 20\beta) + 216(1 + \beta)(35 + 15\beta) - 108(65 + 20\beta)(1 + \beta)(3 + 2\beta)^2 - 18(1 + \beta)^2(35 + 15\beta)(65 + 20\beta) - 12(3 + 2\beta)(35 + 15\beta)^2(65 + 20\beta),$$

$$C_4(t, \varpi) = [12 - 8(3 + 2\beta)](3 + 2\beta) - [9(1 + \beta) - 12(3 + 2\beta)](35 + 15\beta) + [54 - 108(1 + \beta)](3 + 2\beta)^2.$$

In case, $\lambda = 0$ and $\beta = 0$ As a result, The following is a Corollary:

Corollary 2.6. *Let $f(z)$ is given by (1.1) belongs to the class $\mu(0, 0, t)$. Then, we have,*

$$|H_4(1)| \leq \approx 212.414.$$

In case applying Lemma (1.2) and by applying $|a_6|, |a_7|$ from Theorem 2.2 in fourth Hankel determinant (1.6), As a result, we have the following Corollary:

Theorem 2.7. *If the function $f \in \mu(\beta, \lambda, t)$ and is of the form (1.1), then we have*

$$|H_4(1)| \leq -\Delta_1(t, \varpi) + \Delta_2(t, \varpi) - \Delta_3(t, \varpi) + \Delta_4(t, \varpi),$$

where

$$\Delta_1(t, \varpi) = \frac{-17}{36} \left(\frac{55875}{(60(1 - \lambda) + 20\beta + 5)} - \frac{57077}{46656} \right),$$

$$\Delta_2(t, \varpi) = \left(\frac{15}{(60(1 - \lambda) + 20\beta + 5)} - \frac{129708}{186624} \right),$$

$$\Delta_3(t, \varpi) = \frac{-54}{(60(1 - \lambda) + 20\beta + 5)} \left(\frac{-27}{2(60(1 - \lambda) + 20\beta + 5)} - \frac{12816}{2304} \right),$$

$$\Delta_4(t, \varpi) = \frac{52908}{746496(140(1 - \lambda) + 35\beta + 7)}.$$

Proof . Let $f \in \mu(\beta, \lambda, t)$. Then, we can be write fourth Hankel determinant as :

$$|H_4(1)| = -a_4\mathcal{S}_1 + a_5\mathcal{S}_2 - a_6\mathcal{S}_3 + a_7\mathcal{S}_4,$$

where

$$|\mathcal{S}_1| = |a_2||a_4a_6 - a_5^2| + |a_3||a_3a_6 - a_4a_5| - |a_4||a_3a_5 - a_4^2|,$$

$$|\mathcal{S}_2| = |a_4a_6 - a_5^2| - |a_2||a_3a_6 - a_4a_5| + |a_3||a_3a_5 - a_4^2|,$$

$$|\mathcal{S}_3| = |a_3a_6 - a_4a_5| + |a_2||a_2a_6 - a_3a_5| - |a_4||a_2a_4 - a_3^2|,$$

$$|\mathcal{S}_4| = |a_3||a_2a_4 - a_2^2| - |a_4||a_4 - a_2a_3| + |a_5||a_3 - a_2^2|.$$

By applying Lemma 1.2 and $|a_6|, |a_7|$ from Theorem 2.2 in fourth Hankel determinant (1.6),we get

$$|\mathcal{S}_1| = |a_2||a_4a_6 - a_5^2| + |a_3||a_3a_6 - a_4a_5| - |a_4||a_3a_5 - a_4^2| = \frac{55875}{(60(1 - \lambda) + 20\beta + 5)} - \frac{57077}{46656}, \tag{2.14}$$

$$|\mathcal{S}_2| = |a_4a_6 - a_5^2| - |a_2||a_3a_6 - a_4a_5| + |a_3||a_3a_5 - a_4^2| = \frac{15}{(60(1 - \lambda) + 20\beta + 5)} - \frac{129708}{186624}, \tag{2.15}$$

$$|\mathcal{S}_3| = |a_3a_6 - a_4a_5| + |a_2||a_2a_6 - a_3a_5| - |a_4||a_2a_4 - a_3^2| = \frac{-27}{2(60(1 - \lambda) + 20\beta + 5)} - \frac{12816}{2304}, \tag{2.16}$$

$$|\mathcal{S}_4| = |a_3||a_2a_4 - a_2^2| - |a_4||a_4 - a_2a_3| + |a_5||a_3 - a_2^2| = \frac{326592}{746496}. \tag{2.17}$$

Inserting values (2.14),(2.15),(2.16),(2.17) in (1.5), then we have

$$|H_4(1)| \leq -\Delta_1(t, \varpi) + \Delta_2(t, \varpi) - \Delta_3(t, \varpi) + \Delta_4(t, \varpi),$$

where

$$\Delta_1(t, \varpi) = \frac{-17}{36} \left(\frac{55875}{(60(1 - \lambda) + 20\beta + 5)} - \frac{57077}{46656} \right),$$

$$\Delta_2(t, \varpi) = \left(\frac{15}{(60(1 - \lambda) + 20\beta + 5)} - \frac{129708}{186624} \right),$$

$$\Delta_3(t, \varpi) = \frac{-54}{(60(1 - \lambda) + 20\beta + 5)} \left(\frac{-27}{2(60(1 - \lambda) + 20\beta + 5)} - \frac{12816}{2304} \right),$$

$$\Delta_4(t, \varpi) = \frac{52908}{746496(140(1 - \lambda) + 35\beta + 7)}.$$

□

In case $\beta = 0$, As a result, The following is a Corollary:

Corollary 2.8. *Let $f(z)$ is given by (1.1) be in the class $\mu(0, \lambda, t)$. Then*

$$|H_4(1)| \leq -\Upsilon_1(t, \varpi) + \Upsilon_2(t, \varpi) - \Upsilon_3(t, \varpi) + \Upsilon_4(t, \varpi),$$

where

$$\begin{aligned}\Upsilon_1(t, \varpi) &= \frac{-17}{36} \left(\frac{55875}{(60(1 - \lambda) + 5)} - \frac{57077}{46656} \right), \\ \Upsilon_2(t, \varpi) &= \left(\frac{15}{(60(1 - \lambda) + 5)} - \frac{129708}{186624} \right), \\ \Upsilon_3(t, \varpi) &= \frac{-54}{(60(1 - \lambda) + 5)} \left(\frac{-27}{2(60(1 - \lambda) + 5)} - \frac{12816}{2304} \right), \\ \Upsilon_4(t, \varpi) &= \frac{52908}{746496(140(1 - \lambda) + 7)}.\end{aligned}$$

In case $\lambda = 0$ As a result, The following is a Corollary:

Corollary 2.9. *Let $f(z)$ given by (1.1) be in the class $\mu(\beta, 0, t)$. Then*

$$|H_4(1)| \leq -S_1(t, \varpi) + S_2(t, \varpi) - S_3(t, \varpi) + S_4(t, \varpi),$$

where

$$\begin{aligned}S_1(t, \varpi) &= \frac{-17}{36} \left(\frac{55875}{(65 + 20\beta)} - \frac{57077}{46656} \right), \\ S_2(t, \varpi) &= \left(\frac{15}{(65 + 20\beta)} - \frac{129708}{186624} \right), \\ S_3(t, \varpi) &= \frac{-54}{(65 + 20\beta)} \left(\frac{-27}{2(65 + 20\beta)} - \frac{12816}{2304} \right), \\ S_4(t, \varpi) &= \frac{52908}{746496(147 + 35\beta)}.\end{aligned}$$

References

- [1] S.A. Al-Ameedee, W.G. Atshan and F.A. Al-Maamori, *Second Hankel determinant for certain subclasses of Bi-univalent functions*, J. Phys. Conf. Ser. 1664 (2020) 012044.
- [2] K.O. Babalola, *On $H_3(1)$ Hankel determinant for some classes of univalent functions*, Inequal. Theory Appl. 6 (2010) 1–7.
- [3] D.G. Cantor, *Power series with integral coefficients*, Bull. Am. Math. Soc. 69(3) (1963) 362–366.
- [4] N.E. Cho, V. Kumar, S.S. Kumar and V. Ravichandran, *Radius problems for starlike functions associated with the sine function*, Bull. Iran. Math. Soc. 45(1) (2019) 213–232.
- [5] P. Dienes, *The Taylor Series: An Introduction to the Theory of Functions of a Complex Variable*, NewYork-Dover: Mineola, NY, USA, 1957.
- [6] P.L. Duren, *Univalent Functions*, Springer Science and Business Media, Berlin, Germany, 1983.
- [7] A. Janteng, S.A. Halim and M. Darus, *Coefficient inequality for a function whose derivative has a positive real part*, J. Inequal. Pure Appl. Math. 7(2) (2006) 1–5.
- [8] D.V. Krishna and T. RamReddy, *Second Hankel determinant for the class of Bazilevic functions*, Stud. Univ. Babeş-Bolyai Math. 60(3) (2015) 413–420.
- [9] W.C. Ma and D. Minda, *A unified treatment of some special classes of univalent functions*, Proc. Conf. Complex Anal. (Tianjin 92), 1 (1994).
- [10] R. Mendiratta, S. Nagpal and V. Ravichandran, *On a subclass of strongly starlike functions associated with exponential function*, Bull. Malays. Math. Sci. Soc. 38(1) (2015) 365–386.
- [11] G. Polya and I.J. Schoenberg, *Remarks on de la Vallee Poussin means and convex conformal maps of the circle*, Pacific J. Math. 8(2) (1958) 259–334.
- [12] C. Pommerenke, *On the coefficients and Hankel determinants of univalent functions*, J. Lond. Math. Soc. 1(1) (1966) 111–122.
- [13] C. Pommerenke, *On the Hankel determinants of univalent functions*, Mathematika 14(1) (1967) 108–112.
- [14] I.A. Rahman, W.G. Atshan and G.I. Oros, *New concept on fourth Hankel determinant of a certain subclass of analytic functions*, Afrika Mat. 33(1) (2022).
- [15] S. Sharma and A.J. Obaid, *Mathematical modelling, analysis and design of fuzzy logic controller for the control of ventilation systems using MATLAB fuzzy logic toolbox*, J. Interdis. Math. 23(4) (2020) 843–849.
- [16] H.M. Srivastava, Q.Z. Ahmad, N. Khan and B. Khan, *Hankel and Toeplitz determinants for a subclass of q -starlike functions associated with a general conic domain*, Math. 7(2) (2019) 181.
- [17] H.M. Srivastava, S. Altinkaya and S. Yalcın, *Hankel determinant for a subclass of bi-univalent functions defined by using a symmetric q -derivative operator*, Filomat 32(2) (2018) 503–516.